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fh 4 JE Hh 0 = I T E=E i fiE T fE g2y ]
X R & JE 10. 00| AHxf 74 7401 1,080 790 432
% B | 10,00 fxr| 45| 4,350| 1,080  o915] 756
NS RIS 10. 00 | #856f 260 2, 600 972 720 432
ZiED H O/ 10. 00| AH%F 62 620 2,700 2,319 864
R M5 5. 00| FHxf 19 95| 3,780| 2,632| 1,512
H X L 13. 00| fHxf 300 3,900 864 575 324
EISEaNe) L JE 12. 00 | ¥ 650 7,800 1,080 877 432
1T NAEL w5 4. 00| fHxf 51 204 2,160| 1,895| 1,620
H % o e 3. 00 | FHxt 210 630 1,998 1,180 864
H A L 1. 00| AH%t 240 240 864 516 216
ENIE 5.00 f%E| 15 75| 2,160| 1,800 1,620
A o 2. 00 [ FH %} 154 308| 1,134 953 756
E om | o.30 faxr|  2s0] 6| 167| 139 124
LFE L {r 4. 00 | FH%f 211 844| 1,080 954 756
[N w5 5. 00| FHxf 584 2,920 2,376 1,980| 1,123
T k= k Foak L 0. 20 | FH %} 300 60 108 97 76
ENIE s.ool Akt 8| o4 1,512| 1,472| 1,404
a0 FoEk L 2. 00 [ FH %} 14 28| 2,376 2,299 2,160
w3 w5 5. 00| FHxf 25 125 1,944| 1,728 1,296
RS e YR 10. 00 | FH 5t 80 800 2, 700
A= 4 AbiEiE 10. 00 | ¥ 22 220 2,538| 1,505| 1,404
B ¥ = 10. 00 | #H % 76 760 3,024 2,008 1,620
£ A AL 20. 00 | #H 5%} 264 5,280 4,806 3,808 2,916
& @ | 1000 fEk| 1so| 1,800 2,862 2,466| 2,268
L&A o 10. 00 | #B5f 436 4,360 3,888 3,366| 1,728
Po=— L H R f& [l 4. 00| AH%F 800 3,200 1,728| 1,418 1,188
Tuyal— M5 6. 00 | FA%f 480 2,880 2,808 2,517 1,836
= 1| 6.00| fxt| 26| 156 2,700 2,089 1,944
AEMEE w5 0. 10| #Hxf | 5,450 545 173 120 65
ZDEH £ ¥ 0. 20 [ #Hx} 900 180 65 63 59
LU E % 0. 20 | FH %} 300 60 86
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38 Foak L 10. 00 | #H%F 1,179 11,790 3,780 2,729 756
VA 1 Ak L 10. 00 | ¥H % 248 2,480 2,268 2,149 1,652
5 U R 10. 00 | #H%f 360 3,600 4,320 2,533 1,620
Yafa— #H & 10. 00 | #H%f 2 20 4,212
T AT E— = R 0. 27 | ¥} 238 63 464 381 216
HEFH D & [ 0. 27 | ¥H %} 1, 950 525 702 608 486
S 5 0. 25| FHx} 6, 049 1,516 540 438 270
IRBHD Y £ I 0. 25| FH*} 1,917 482 562 491 324




